Trigonometric Functions
Exercise 12.5 for Class Xl Page- ]

Question # 1 Solve the following triangle ABC in which:
b=95, c =34, a=352"

Question # 2 Solve the following triangle ABC in which:
=125 , #=28 , &#=3990

Question # 3 Solve the following triangle ABC in which:
a=3-1=0732 ., b=3+1=2732 , y=60°

Question # 4 Solve the following triangle ABC in which: @
g . b=l 5 W=

Question # 5 Solve the following triangle ABC in which: \o
a=T , b=3 , p=381%

Question # 6 Solve the following triangle, using first law of tang&\@ then law of sines:
a=3621 , b=4209 , y=4429

Question # 7 Solve the following triangle, using first law, & tahgent and then law of sines:

a=93% =101, a =80 @

Question # 8 Solve the following triangle, usi W of tangent and then law of sines:
b=14.8, c=16.1, =42 \

a=319, b=168, ¥

Question #9 Solve the following @g first law of tangent and then law of sines:

Question # 10 Solve the foll% angle, using first law of tangent and then law of sines:
b=61 |, , a=593(0

a easure 57° . Find the remaining two angles.

Question # 11 Mea r@wo sides of the triangle are in the ratio 3:2 and they include a
%!e'&\vn

Question # @wﬁ forces of 40N and 30N are represented by AB and BC which are
$ nclined at an angle of 147°25". Find AC, the resultant of AB and BC .
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